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QUESTION 1

In a RDF Compare Report, which condition represents the lowercase letter "s" for mismatched configurations?
A. Small R1 to Big R2

B. Size

C. Serial Number

D. Snow

Correct Answer: A

QUESTION 2

You are using the SymmWin simulator to test an upgrade. What is required for a successful test?
A. SymmWin with the same system Enginuity level and two IMPL.Bins

B. The Service Processor and two upgrade impl.Bins of the same system

C. The Service Processor and the original IMPL.Bins of the same system

D. SymmWin with the same Enginuity level and the upgrade impl.Bins

Correct Answer: A

QUESTION 3

Where are the daisy chained DAEs for engine 3 located in a fully populated VMAX 10K (987) dense configuration?
A. System Bay 3 only.

B. System Bay 3 and bottom of Storage Bay 1B.

C. Bottom of Storage Bay 1B only.

D. System Bay 3 and top of Storage Bay 1B.

Correct Answer: B

QUESTION 4
Which statement best describes a Mainframe LPAR?
A. Virtual divisions of a physical Mainframe

B. A group of 256 logical devices
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C. A physical division Mainframe system
D. A Channel Sub-System

Correct Answer: A

QUESTION 5

A banking customer reported performance a issue in their DB server, which is connected to a dedicated FA on a VMAX
array. After initial analysis, a bottleneck was found on the FA level. The customer now plans to add two FAs to share the
load. What needs to be considered when performing the upgrade?

A. The new FA\\'s director bit flags should be configured to match the existing one.

B. The new FA bit flags automatically synchronize with other FAs where the host is attached.

C. Disable all FA bit flags on the new FA so the host will continue using the existing FAs bit flags configuration.

D. If you set Director bit flags globally using SymmWin INIT configuration, there is no need to set them on any individual
director.

Correct Answer: C

QUESTION 6

Which VMAX Models Support CKD Virtual Provisioning?
A. VMAX 40K and VMAX 20K

B. VMAX 40K, VMAX 20K and VMAX 10K

C. VMAX 10K and VMAX 40K

D. VMAX 10K and VMAX 20K

Correct Answer: A

QUESTION 7

Which service does not run in the background, while the user is logged out of the service processor?
A. Communication

B. Handler

C. Polling

D. Scheduler

Correct Answer: A
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QUESTION 8

Refer to the exhibit.
-

g —_—

3

Which array houses the R1 devices, and in which status are the devices?
A. R1 devices reside on the Source array in Read-Write state

B. R1 devices reside on the Target array in Read-Write state

C. R1 devices reside on the Source array in Write Disabled state

D. R1 devices reside on the Target array in Write Disabled state

Correct Answer: A

QUESTION 9

Which SRDF operation results in a suspended link?
A. Split

B. Swap

C. Failback

D. Restore

Correct Answer: A

QUESTION 10

You are installing a new VMAX 20K for a customer. You need to download the license file and you log onto
http://support.emc.com to retrieve it.

What do you need to know about the License Activation Code (LAC) name to retrieve the license file?
A. The name includes the VMAX Serial Number

B. The name is identical to the site id
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C. The name is identical to the current date
D. The name is a combination of the site id and the Serial Number

Correct Answer: A

QUESTION 11

Starting with which microcode level requires you to have a secure logon ID in order to operate the Service Processor?
A.5772

B. 5876

C. 5875

D. 5773

Correct Answer: A

QUESTION 12

What is the Best Practice when configuring Fast VP volumes?
A. Data devices should have the same emulation.

B. Data devices should have different protection type.

C. Data device in a pool can be of different rotational speed.
D. Data devices in a pool can be different in size.

Correct Answer: A

QUESTION 13

In a Symmetrix VMAX 40K, which engine is connected to the upper half of Direct Connect Storage bay 1D?
A. 8

B.7

C.1

D.2

Correct Answer: A

QUESTION 14
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Refer to the Exhibit.

Backend | Backend SIB PortA + B

Backend | Backend SIBPortA+B

Backend SIBPortA+B

Backend SIBPortA+B

While configuring a Multi-Engine VMAX 20K, the CE is connecting Engine numbers 4 and 5 with cables. What is the
type and sequence of connections required to connect the Highest Engine number?

A. Purple Cable; connects Bto Cand Ato 1
B. Green Cable; connects Bto Cand Ato 1
C. Purple Cable; connects Bto Cand D to 1
D. Green Cable; connectsBtoCand D to 1

Correct Answer: A

QUESTION 15

Which FRU replacements are supported by Simplified Symmwin?
A. MIBE and DAE

B. Engine and DAE

C. DAE and Multiple SPS
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D. Multiple SPS and Engine

Correct Answer: A
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